
®

Drywall Screws
DRYWALL SCREW BLACK PHOSPHATED (FINE)	 a.   1

DRYWALL SCREW BLACK PHOSPHATED 1LB (FINE)	 b.  1

DRYWALL SCREW BLACK PHOSPHATED 5LB (FINE)	 c.  1

DRYWALL SCREW BLACK PHOSPHATED	 d.  1

DRYWALL SCREW BLACK PHOSPHATED 1LB	 e.  1

DRYWALL SCREW BLACK PHOSPHATED 5LB	 f.  1

SQUARE DRIVE DRYWALL SCREW 1LB BLACK	 g.  1

SQUARE DRIVE DRYWALL SCREW 5LB BLACK	 h.  1

DRYWALL SCREWS ZINC YELLOW	 i.  1

DRYWALL SCREWS ZINC YELLOW 1LB	 j.  1

DRYWALL SCREWS ZINC YELLOW 5LB	 k.  1

SELF DRILLING DRYWALL SCREWS PHOSPHATED BLACK	 l.  1

SELF DRILLING DRYWALL SCREWS PHOSPHATED 1LB BLACK	 m.  1

SELF DRILLING DRYWALL SCREWS PHOSPHATED 5LB BLACK	 n.  1

DECK SCREWS DACROTIZED	 o.  1

DECK SCREWS DACROTIZED 1LB	 p.  1

DECK SCREWS DACROTIZED 5LB	 q.  1

LAMINATING DRYWALL SCREW BLACK	 r.  1

drywallscrews_032025  



DRYWALL SCREWS BLACK	 s.  1

TRIM HEAD PHIL DRYWALL SCREWS BLACK	 t.  1

STAR DRIVE SCREWDRIVER BITS	 u.  1

JAX PRO OUTDOOR SCREW STAR FLAT HEAD 1LB	 v.  1

JAX PRO OUTDOOR SCREW STAR FLAT HEAD 5LB	 w.  1

PHIL SQUARE DRIVE BITS	 x.  1

PHILLIPS COMBO DR DECK SCREWS 1LB	 y.  1

PHILLIPS COMBO DR DECK SCREWS 5LB	 z.  1

PHILLIPS COMBO DRIV DECK SCREWS 25LB	 aa.  1

CEMENT BOARD FLAT COMBO SPOON POINT SCREW	 ab.  1

CEMENT BOARD  SELF DRILLING SCREW	 ac.  1

CEMENT BOARD SHARP POINT SCREWS	 ad.  1

SQUARE DRIVE SCREWDRIVER BITS	 ae.  1

CERAMIC COATING SQ. DRIVE DECK SCREW 1LB BOX (GREEN)	 af.  1

CERAMIC COATING SQ. DRIVE DECK SCREW 5LB BOX (GREEN)	 ag.  1

CERAMIC COATING SQ. DRIVE DECK SCREW 1LB BOX (RED)	 ah.  1

CERAMIC COATING SQ. DRIVE DECK SCREW 5LB BOX (RED)	 ai.  1

CERAMIC COATING SQ. DRIVE DECK SCREW 1LB BOX (TAN)	 aj.  1

CERAMIC COATING SQ. DRIVE DECK SCREW 5LB BOX (TAN)	 ak.  1

STAINLESS 305 DECK SCREW SQUARE DRIVE 1LB BOX	 al.  1

STAINLESS 305 DECK SCREW SQUARE DRIVE 5LB BOX	 am.  1

STAINLESS 305 DECK SCREW TRIM SQUARE DRIVE 1LB BOX	 an.  1

STAINLESS 305 DECK SCREW TRIM SQUARE DRIVE 5LB BOX	 ao.  1

STAINLESS 305 DECK SCREW SQUARE DRIVE 1LB BOX	 ap.  1

STAINLESS 305 DECK SCREW SQUARE DRIVE 5LB BOX	 aq.  1

Drywall Screws



a. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREW BLACK PHOSPHATED (FINE)

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055000 064520 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 3/4 100 PT 064

055001 064021 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 100 PT 064

055003 064041 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 1/4 100 PT 064

055004 064061 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 5/8 100 PT 064

055005 064071 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 2 100 PT 064

055006 064527 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #7 X 2 1/4 100 PT 064

055007 064101 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #8 X 2 1/2 100 PT 064

055008 064111 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #8 X 3 100 PT 064

055009 064529 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #10 X 3 3/4 100 PT 064

055010 064141 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #10 X 4 1/2 100 PT 064

055011 064181 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #10 X 6 100 PT 064



b. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREW BLACK PHOSPHATED 1LB (FINE)

D
RY

W
AL

L 
SC

RE
W

S

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D55000 P64520 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 3/4 1 PI P64

D55001 P64021 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 1 P1 P64

D55003 P64041 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 1/4 1 P1 P64

D55004 P64061 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 5/8 1 P1 P64

D55005 P64071 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 2 1 P1 P64

D55007 P64101 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #8 X 2 1/2 1 P1 P64

D55008 P64111 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #8 X 3 1 P1 P64

D55009 P64529 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #10 X 3 3/4 1 PI P64

D55010 P64141 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #10 X 4 1/2 1 PI P64

D55011 P64181 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #10 X 6 1 PI P64



c. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREW BLACK PHOSPHATED 5LB (FINE)

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

555001 P64021 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 5 PR P64

555003 P64041 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 1/4 5 PR P64

555004 P64061 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 1 5/8 5 PR P64

555005 P64071 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #6 X 2 5 PR P64

555007 P64101 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #8 X 2 1/2 5 PR P64

555008 P64111 BUGLE HEAD PHIL FINE DRYWALL SCREW BLACK #8 X 3 5 PR P64



d. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREW BLACK PHOSPHATED

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055020 064020 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1  100 PT 064

055021 064030 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1 1/8  100 PT 064

055022 064040 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1 1/4  100 PT 064

055023 064060 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1 5/8  100 PT 064

055024 064070 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 2  100 PT 064

055025 064080 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 2 1/4  100 PT 064

055026 064100 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #8 X 2 1/2  100 PT 064

055027 064110 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #8 X 3  100 PT 064



e. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREW BLACK PHOSPHATED 1LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D55020 P64020 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1  1 P1 P64

D55022 P64040 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1 1/4  1 P1 P64

D55023 P64060 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1 5/8  1 P1 P64

D55024 P64070 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 2  1 P1 P64

D55026 P64100 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #8 X 2 1/2  1 P1 P64

D55027 P64110 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #8 X 3  1 P1 P64



f. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREW BLACK PHOSPHATED 5LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

555020 P64020 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1  5 PR P64

555022 P64040 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1 1/4  5 PR P64

555023 P64060 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 1 5/8  5 PR P64

555024 P64070 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #6 X 2  5 PR P64

555026 P64100 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #8 X 2 1/2  5 PR P64

555027 P64110 BUGLE HEAD PHIL COARSE DRYWALL SCREW BLACK #8 X 3  5 PR P64



g. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

SQUARE DRIVE DRYWALL SCREW 1LBS BLACK

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D55200 P64641 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #6 X 1 1/4 1 PI P64

D55201 P64660 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #6 X 1 5/8 1 PI P64

D55202 P64670 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #6 X 2 1 PI P64

D55203 P64680 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #8 X 2 1/2 1 PI P64

D55204 P64690 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #8 X 3 1 PI P64



h. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

SQUARE DRIVE DRYWALL SCREW 5LB BLACK

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

555200 P64640 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #6 X 1 1/4 5 PQ P64

555201 P64660 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #6 X 1 5/8 5 PQ P64

555202 P64670 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #6 X 2 5 PQ P64

555203 P64680 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #8 X 2 1/2 5 PQ P64

555204 P64690 BUGLE HEAD SQ DRIVE DRYWALL SCREW BLACK #8 X 3 5 PQ P64



i. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREWS ZINC YELLOW

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

056001 070010 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 100 PT 070

056002 070020 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 1/8 100 PT 070

056003 070030 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 1/4 100 PT 070

056004 070040 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 5/8 100 PT 070

056005 070050 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 2 100 PT 070

056006 070060 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 2 1/4 100 PT 635

056007 070070 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #8 X 2 1/2 100 PT 070

056008 070080 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #8 X 3 100 PT 070



j. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREWS ZINC YELLOW 1LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D56001 P70010 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 1 PI P70

D56003 P70030 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 1/4 1 P1 P70

D56004 P70040 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 5/8 1 P1 P70

D56005 P70050 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 2 1 P1 P70

D56007 P70070 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #8 X 2 1/2 1 P1 P70

D56008 P70080 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #8 X 3 1 P1 P70



k. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREWS ZINC YELLOW 5LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

556001 P70010 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 5 PR P70

556003 P70030 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 1/4 5 PR P70

556004 P70040 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 1 5/8 5 PR P70

556005 P70050 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #6 X 2 5 PR P70

556007 P70070 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #8 X 2 1/2 5 PR P70

556008 P70080 BUGLE HEAD PHIL DRYWALL SCREWS ZINC YELLOW #8 X 3 5 PR P70



12825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

SELF DRILLING DRYWALL SCREWS PHOSPHATED BLACK

D
RY

W
AL

L 
SC

RE
W

S

l. 1

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055028 689138 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 100 PT 689

055029 689142 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 1/4 100 PT 689

055030 689145 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 5/8 100 PT 689

055031 689147 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 7/8 100 PT 689

055040 689169 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 2 3/8 100 PT 689

055041 689171 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 2 5/8 100 PT 689

055042 689175 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 3 100 PT 689



m. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

SELF DRILLING DRYWALL SCREWS PHOSPHATED 1LB BLACK

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D55028 P26138 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 1 PI P26

D55029 P26142 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 1/4 1 PI P26

D55030 P26144 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 5/8 1 PI P26

D55031 P26146 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 7/8 1 PI P26

D55040 P26169 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 2 3/8 1 PI P26

D55041 P26171 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 2 5/8 1 PI P26

D55042 P26175 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 3 1 PI P26



n. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

SELF DRILLING DRYWALL SCREWS PHOSPHATED 5LB BLACK

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

555028 P26138 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 5 PQ P26

555029 P26142 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 1/4 5 PQ P26

555030 P26144 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 5/8 5 PQ P26

555031 P26146 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #6 X 1 7/8 5 PQ P26

555040 P26169 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 2 3/8 5 PQ P26

555041 P26171 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 2 5/8 5 PQ P26

555042 P26175 BUGLE HEAD PHIL SELF DRILLING DRYWALL SCREWS 
BLACK #8 X 3 5 PQ P26



o. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DECK SCREWS DACROTIZED

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055072 687046 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 100 PT 687

055074 687050 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 1/4 100 PT 687

055075 687054 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 5/8 100 PT 687

055076 687058 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 2 100 PT 687

055077 687080 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #8 X 2 1/2 100 PT 687

055078 687084 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #8 X 3 100 PT 687

055079 687110 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #10 X 4 100 PT 687

055080 687114 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #10 X 4 1/2 100 PT 687

055081 687156 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #10 X 6 100 PT 687



p. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DECK SCREWS DACROTIZED 1LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D55072 P80045 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 1 PI P80

D55074 P80050 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 1/4 1 PI P80

D55075 P80054 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 5/8 1 PI P80

D55076 P80058 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 2 1 PI P80

D55077 P80080 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #8 X 2 1/2 1 PI P80

D55078 P80084 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #8 X 3 1 PI P80

D55079 P80110 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #10 X 4 1 PI P80

D55080 P80114 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #10 X 4 1/2 1 PI P80

D55081 P80120 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #10 X 6 1 PI P80

D55082 P69102 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #10 X 3 1/2 1 PI P69



q. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DECK SCREWS DACROTIZED 5LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

555072 P80045 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 5 PQ P80

555074 P80050 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 1/4 5 PQ P80

555075 P80054 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 1 5/8 5 PQ P80

555076 P80058 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #6 X 2 5 PQ P80

555077 P80080 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #8 X 2 1/2 5 PQ P80

555078 P80084 BUGLE HEAD PHIL DECK SCREWS DACROTIZED #8 X 3 5 PQ P80



r. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

LAMINATING DRYWALL SCREW BLACK

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

056100 064333 LAMINATING DRYWALL SCREWS BLACK #10 X 1 1/2 100 PT 634



s. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

DRYWALL SCREWS BLACK

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI  
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055032 064400 TRIM HEAD SQ DR DRYWALL SCREWS BLACK #6 X 1 5/8 100 PT 634

055033 064410 TRIM HEAD SQ DR DRYWALL SCREWS BLACK #6 X 2 1/4 100 PT 634



t. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

TRIM HEAD PHIL DRYWALL SCREWS BLACK

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055045 634600 TRIM HEAD SQ DR DRYWALL SCREWS BLACK #6 X 1 5/8 100 PT 634

055046 634610 TRIM HEAD SQ DR DRYWALL SCREWS BLACK #6 X 2 1/4 100 PT 634



u. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

STAR DRIVE SCREWDRIVER BITS

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

PT20 T58106 STAR DRIVE SCREWDRIVER BITS T20 X 1 2 PL T58

PT25 T58107 STAR DRIVE SCREWDRIVER BITS T25 X 1 2 PL T58



v. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

JAX PRO OUTDOOR SCREW STAR FLAT HEAD 1LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59601 928901 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 1 1/4 6 PACK PI 928

D59602 928902 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 1 1/2 6 PACK PI 928

D59613 928913 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 1 5/8 6 PACK PI 928

D59603 928903 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 1 3/4 6 PACK PI 928

D59604 928904 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 2 6 PACK PI 928

D59605 928905 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #9 X 2 1/2 6 PACK PI 928

D59606 928906 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #9 X 2 3/4 6 PACK PI 928

D59607 928907 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #9 X 3 6 PACK PI 928

D59608 928908 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 2 6 PACK PI 928

D59609 928909 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 2 1/2 6 PACK PI 928

D59610 928910 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 3 6 PACK PI 928

D59611 928911 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 3 1/2 6 PACK PI 928

D59612 928912 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 4 6 PACK PI 928



w. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

JAX PRO OUTDOOR SCREW STAR FLAT HEAD 5LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

559601 928901 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 1 1/4 6 PACK PQ 928

559602 928902 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 1 1/2 6 PACK PQ 928

559613 928913 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 1 5/8 6 PACK PQ 928

559603 928903 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 1 3/4 6 PACK PQ 928

559604 928904 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #8 X 2 6 PACK PQ 928

559605 928905 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #9 X 2 1/2 6 PACK PQ 928

559606 928906 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #9 X 2 3/4 6 PACK PQ 928

559607 928907 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #9 X 3 6 PACK PQ 928

559608 928908 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 2 6 PACK PQ 928

559609 928909 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 2 1/2 6 PACK PQ 928

559610 928910 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 3 6 PACK PQ 928

559611 928911 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 3 1/2 6 PACK PQ 928

559612 928912 JAX PRO OUTDOOR SCREW STAR FLAT HEAD #10 X 4 6 PACK PQ 928



x. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

PHIL SQUARE DRIVE BITS

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

906640 906640 PHIL SQ DRIVE BITS PL 1 2 PT 906

906643 906643 PHIL SQ DRIVE BITS PL 2 2 PT 906



y. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

PHILLIPS COMBO DR DECK SCREWS 1LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

1PH54010 P54010 PHILLIPS COMBO DR DECK SCREWS GREEN #7 X 1 1/4 25 PACK P2 P54

1PH54015 P54015 PHILLIPS COMBO DR DECK SCREWS GREEN #8 X 1 5/8 25 PACK P2 P54

1PH54020 P54020 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 2 25 PACK P2 P54

1PH54025 P54025 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 2 1/2 25 PACK P2 P54

1PH54030 P54030 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 3 25 PACK P2 P54

1PH54035 P54035 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 3 1/2 25 PACK P2 P54

1PH54040 P54040 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 4 25 PACK P2 P54

1PH55010 P55010 PHILLIPS COMBO DR DECK SCREWS TAN #7 X 1 1/4 25 PACK P2 P55

1PH55020 P55020 PHILLIPS COMBO DR DECK SCREWS TAN #8 X 1 5/8 25 PACK P2 P55

1PH55030 P55030 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 2 25 PACK P2 P55

1PH55035 P55035 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 2 1/2 25 PACK P2 P55

1PH55040 P55040 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 3 25 PACK P2 P55

1PH55045 P55045 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 3 1/2 25 PACK P2 P55

1PH56010 P56010 PHILLIPS COMBO DR DECK SCREWS RED #7 X 1 1/4 25 PACK P2 P56

1PH56020 P56020 PHILLIPS COMBO DR DECK SCREWS RED #8 X 1 5/8 25 PACK P2 P56

1PH56030 P56030 PHILLIPS COMBO DR DECK SCREWS RED #9 X 2 25 PACK P2 P56

1PH56035 P56035 PHILLIPS COMBO DR DECK SCREWS RED #9 X 2 1/2 25 PACK P2 P56

1PH56040 P56040 PHILLIPS COMBO DR DECK SCREWS RED #9 X 3 25 PACK P2 P56

1PH56045 P56045 PHILLIPS COMBO DR DECK SCREWS RED #9 X 3 1/2 25 PACK P2 P56



z. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

PHILLIPS COMBO DR DECK SCREWS 5LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

5PH54010 P54010 PHILLIPS COMBO DR DECK SCREWS GREEN #7 X 1 1/4 8 PACK PR P54

5PH54015 P54015 PHILLIPS COMBO DR DECK SCREWS GREEN #8 X 1 5/8 8 PACK PR P54

5PH54020 P54020 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 2 8 PACK PR P54

5PH54025 P54025 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 2 1/2 8 PACK PR P54

5PH54030 P54030 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 3 8 PACK PR P54

5PH54035 P54035 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 3 1/2 8 PACK PR P54

5PH54040 P54040 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 4 8 PACK PR P54

5PH55020 P55020 PHILLIPS COMBO DR DECK SCREWS TAN #8 X 1 5/8 8 PACK PR P55

5PH55030 P55030 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 2 8 PACK PR P55

5PH55035 P55035 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 2 1/2 8 PACK PR P55

5PH55040 P55040 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 3 8 PACK PR P55

5PH56020 P56020 PHILLIPS COMBO DR DECK SCREWS RED #8 X 1 5/8 8 PACK PR P56

5PH56030 P56030 PHILLIPS COMBO DR DECK SCREWS RED #9 X 2 8 PACK PR P56

5PH56035 P56035 PHILLIPS COMBO DR DECK SCREWS RED #9 X 2 1/2 8 PACK PR P56

5PH56040 P56040 PHILLIPS COMBO DR DECK SCREWS RED #9 X 3 8 PACK PR P56

5PH56045 P56045 PHILLIPS COMBO DR DECK SCREWS RED #9 X 3 1/2 8 PACK PR P56



aa. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

PHILLIPS COMBO DRIV DECK SCREWS 25LB

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

25PH54015 P54015 PHILLIPS COMBO DR DECK SCREWS GREEN #8 X 1 5/8 1 BR P54

25PH54020 P54020 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 2 1 BR P54

25PH54025 P54025 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 2 1/2 1 BR P54

25PH54030 P54030 PHILLIPS COMBO DR DECK SCREWS GREEN #9 X 3 1 BR P54

25PH55020 P55020 PHILLIPS COMBO DR DECK SCREWS TAN #8 X 1 5/8 1 BR P54

25PH55035 P55035 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 2 1/2 1 BR P54

25PH55040 P55040 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 3 1 BR P54

25PH56020 P56020 PHILLIPS COMBO DR DECK SCREWS TAN #8 X 1 5/8 1 BR P54

25PH56035 P56035 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 2 1/2 1 BR P54

25PH56040 P56040 PHILLIPS COMBO DR DECK SCREWS TAN #9 X 3 1 BR P54



ab. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CEMENT BOARD FLAT COMBO SPOON POINT SCREW

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59100 P52310 FLAT COMBO CEMENT BOARD SCREWS SPOON POINT #8 X 1-1/4 1# PI P52

D59101 P52320 FLAT COMBO CEMENT BOARD SCREWS SPOON POINT #8 X 1 5/8 1# PI P52

D59102 P52330 FLAT COMBO CEMENT BOARD SCREWS SPOON POINT #8 X 2-1/4 1# PI P52



ac. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CEMENT BOARD  SELF DRILLING SCREW

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D60001 P52110 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 1-1/4 1# PI P52

D60002 P52120 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 1/8 1# PI P52

D60003 P52130 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 2-1/4 1# PI P52

D59200 P52210 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 1-1/4 1# PI P52

D59201 P52220 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 1 5/8 1# PI P52

D59202 P52230 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 2-1/4 1# PI P52

5560001 P52110 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 1-1/4 5# PQ P52

5560002 P52120 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 1 5/8 5# PQ P52

5560003 P52130 FLAT COMBO CEMENT BOARD SCREWS SELF DRILL 
SCREW #8 X 2-1/4 5# PQ P52



ad. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CEMENT BOARD SHARP POINT SCREWS

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59300 P52010 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #8 X 1-1/4 1# P1 P52

D59301 P52020 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #8 X 1 5/8 1# P1 P52

D59302 P52030 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #8 X 2-1/4 1# P1 P52

D61001 P52060 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #9 X 1-1/4 1# PI P52

D61002 P52070 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #9 X 1/8 1# PI P52

D61003 P52080 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #9 X 2-1/4 1# PI P52

5561001 P52060 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #9 X 1-1/4 5# PQ P52

5561002 P52070 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #9 X 1 5/8 5# PQ P52

5561003 P52080 FLAT COMBO CEMENT BOARD SCREWS SHARP POINT #9 X 2-1/4 5# PQ P52



ae. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

SQUARE DRIVE SCREWDRIVER BITS

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

055099 T59100 SQUARE DRIVE SCREWDRIVER BITS #1 X 1 1 PT T59



af. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CERAMIC COATING SQ. DRIVE DECK SCREW 1LB BOX (GREEN)

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59001 P66080 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #8 X 1 1/4 1 PI P66

D59002 P66082 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #8 X 1 5/8 1 PI P66

D59003 P66084 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #8 X 2 1 PI P66

D59004 P66092 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #9 X 2 1/2 1 PI P66

D59005 P66094 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #9 X 3 1 PI P66

D59006 P66102 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #10 X 3 1/2 1 PI P66

D59007 P66104 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #10 X 4 1 PI P66



ag. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CERAMIC COATING SQ. DRIVE DECK SCREW 5LB BOX (GREEN)

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

559001 P66080 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #8 X 1 1/4 5 PQ P66

559002 P66082 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #8 X 1 5/8 5 PQ P66

559003 P66084 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #8 X 2 5 PQ P66

559004 P66092 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #9 X 2 1/2 5 PQ P66

559005 P66094 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #9 X 3 5 PQ P66

559006 P66102 SQUARE DR DECK SCREW GREEN TYPE 17 W/NIBBS #10 X 3 1/2 5 PQ P66



ah. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CERAMIC COATING SQ. DRIVE DECK SCREW 1LB BOX (RED)

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59020 P66182 SQUARE DR DECK SCREW RED TYPE 17 W/NIBBS #8 X 1 5/8 1 PI P66

D59021 P66192 SQUARE DR DECK SCREW RED TYPE 17 W/NIBBS #9 X 2 1/2 1 PI P66

D59022 P66194 SQUARE DR DECK SCREW RED TYPE 17 W/NIBBS #9 X 3 1 PI P66



ai. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CERAMIC COATING SQ. DRIVE DECK SCREW 5LB BOX (RED)

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

559020 P66182 SQUARE DR DECK SCREW RED TYPE 17 W/NIBBS #8 X 1 5/8 5 PQ P66

559021 P66192 SQUARE DR DECK SCREW RED TYPE 17 W/NIBBS #9 X 2 1/2 5 PQ P66

559022 P66194 SQUARE DR DECK SCREW RED TYPE 17 W/NIBBS #9 X 3 5 PQ P66



aj. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CERAMIC COATING SQ. DRIVE DECK SCREW 1LB BOX (TAN)

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59030 P66282 SQUARE DR DECK SCREW TAN TYPE 17 W/NIBBS #8 X 1 5/8 1 PI P66

D59031 P66292 SQUARE DR DECK SCREW TAN TYPE 17 W/NIBBS #9 X 2 1/2 1 PI P66

D59032 P66294 SQUARE DR DECK SCREW TAN TYPE 17 W/NIBBS #9 X 3 1 PI P66



ak. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

CERAMIC COATING SQ. DRIVE DECK SCREW 5LB BOX (TAN)

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

559030 P66282 SQUARE DR DECK SCREW TAN TYPE 17 W/NIBBS #8 X 1 5/8 5 PQ P66

559031 P66292 SQUARE DR DECK SCREW TAN TYPE 17 W/NIBBS #9 X 2 1/2 5 PQ P66

559032 P66294 SQUARE DR DECK SCREW TAN TYPE 17 W/NIBBS #9 X 3 5 PQ P66



al. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

STAINLESS 305 DECK SCREW SQUARE DRIVE 1LB BOX

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59041 P65080 FLAT HEAD SQ DR  DECK SCREW SS TYPE 17 W/NIBBS #8 X 1 1/4 1 PI P65

D59042 P65082 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #8 X 1 5/8 1 PI P65

D59043 P65102 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 2 1 PI P65

D59044 P65104 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 2 1/2 1 PI P65

D59045 P65106 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 3 1 PI P65

D59046 P65108 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 3 1/2 1 PI P65

D59047 P65110 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 4 1 PI P65



am. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

STAINLESS 305 DECK SCREW SQUARE DRIVE 5LB BOX

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

559041 P65080 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #8 X 1 1/4 5 PQ P65

559042 P65082 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #8 X 1 5/8 5 PQ P65

559043 P65102 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 2 5 PQ P65

559044 P65104 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 2 1/2 5 PQ P65

559045 P65106 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 3 5 PQ P65

559046 P65108 FLAT HEAD SQ DR DECK SCREW SS TYPE 17 W/NIBBS #10 X 3 1/2 5 PQ P65



an. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

STAINLESS 305 DECK SCREW TRIM SQUARE DRIVE 1LB BOX

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59051 P65472 SQUARE TRIM HD DECK SCREW TYPE 17 #7 X 1 5/8 1 PI P65

D59052 P65474 SQUARE TRIM HD DECK SCREW TYPE 17 #7 X 2 1/4 1 PI P65

D59053 P65476 SQUARE TRIM HD DECK SCREW TYPE 17 #7 X 3 1 PI P65



ao. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

STAINLESS 305 DECK SCREW TRIM SQUARE DRIVE 5LB BOX

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

559051 P65472 SQUARE TRIM HD DECK SCREW 305SS TYPE 17 #7 X 1 5/8 5 PQ P65

559052 P65474 SQUARE TRIM HD DECK SCREW 305SS TYPE 17 #7 X 2 1/4 5 PQ P65

559053 P65476 SQUARE TRIM HD DECK SCREW 305SS TYPE 17 #7 X 3 5 PQ P65



ap. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

STAINLESS 305 DECK SCREW SQUARE DRIVE 1LB BOX

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

D59060 P65280 STAR DR DECK SCREW 305SS TYPE 17 #8 X 1 1/4 1 PI P65

D59061 P65282 STAR DR DECK SCREW 305SS TYPE 17 #8 X 1 5/8 1 PI P65

D59062 P65284 STAR DR DECK SCREW 305SS TYPE 17 #8 X 2 1 PI P65

D59063 P65306 STAR DR DECK SCREW 305SS TYPE 17 #10 X 3 1 PI P65

D59064 P65308 STAR DR DECK SCREW 305SS TYPE 17 #10 X 3 1/2 1 PI P65

D59065 P65410 STAR DR DECK SCREW 305SS TYPE 17 #12 X 4 1 PI P65

D59066 P65304 STAR DR DECK SCREW 305SS TYPE 17 #10 X 2 1/2 1 PI P65



aq. 112825 Carmenita Rd . Santa Fe Springs .  CA . 90670 | 1.800.468.9513
grattanfasteners.com

DRYWALL SCREWS

STAINLESS 305 DECK SCREW SQUARE DRIVE 5LB BOX

D
RY

W
AL

L 
SC

RE
W

S

GRATTAN 
PART #

BBI 
PART # DESCRIPTION SIZE BOX 

QTY
VD 
CODE

FAMILY 
CODE

559060 P65280 STAR DR DECK SCREW 305SS TYPE 17 #8 X 1 1/4 5 PQ P65

559061 P65282 STAR DR DECK SCREW 305SS TYPE 17 #8 X 1 5/8 5 PQ P65

559062 P65284 STAR DR DECK SCREW 305SS TYPE 17 #8 X 2 5 PQ P65

559063 P65306 STAR DR DECK SCREW 305SS TYPE 17 #10 X 3 5 PQ P65

559064 P65308 STAR DR DECK SCREW 305SS TYPE 17 #10 X 3 1/2 5 PQ P65

559065 P65410 STAR DR DECK SCREW 305SS TYPE 17 #12 X 4 5 PQ P65

559066 P65304 STAR DR DECK SCREW 305SS TYPE 17 #10 X 2 1/2 5 PQ P65


